13000 GeV pp tt
i:‘-JFH I I | I I I | I I I | I I I | I I I |
g 10 & —
== - X (ttbar) (ATLAS semileptonic ttbar) .

o — 7
b — p—
> n ]
U — —

©
I —
! C -
C W .
L N -

.
n ]
| "m\. p—
LN
10—1 — # —
- B .
— . ]
X

B . m i
L o |
m ATLAS = |
102 — Pyth!a 6.425 default = _
- »-- Pythia 6.425 pro-gq20 S -
e T T RS A H =
2 = -
" — _
< I —]
-l - —

|_
< B ‘3" ’44% " I

o 1 M
s S s ]
[S:U i B - 1
0.5 — —
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 |

2 4 6 8 10

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


